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1 KA +x—56= (x+a) (x+b) - Hla+h=? (3—3FA)
(A)1 (B) -1 (C)8 (D) —7

2. 7Rz (x—=1) (x—=9) =—7 > RIFEIRAI {2 (4—18RA)
(A)6 (B)8 (C)10 (D) 12

3. TR (x—2) (x—3) =6 (x—3) WyMIIRE ? (4—158-4)
(A)3:6 (B)3:8 (C)3:3 (D)6-8

4. FExE—2mx+2m+ 3 B5E 472 0 Hilm= 2 (4483E(F)
(A) —1>3 (B) —2:3 (C) —1>—-2 (D) —1-2

5. A BRIEUT R TEREL - Aly(X— N2 )2 =4919—fi# » Bly(y+1)*=21)—fif - HIA—B=? (48EE)
(A)2 (B)4 (C)6 (D)8

6. — L KHER (4—A) ¥ +x+2=0FRAHEM - MABEEIRME B 2 (4—28848)
(A4 (B)5 (C)6 (D)7

7. FIEEx . BHPIT R BRI 215 - Rlx= 7 (4—3E{E)
(A)2 (B)3 (C)4 (D)5

8. A8 A #8&s » P —(E “EMRRE A IVIEY » SFEEEE%/ ? (4-3)

(A)169 (B)196 (C) 156 (D) 144 cm?

—., BEXRE (SE4D , 329 ) (BEE2BRAZE, B29)

L. R +9x + 14 = (3—3A4)

2. N iR — X —x+42= (3—334)

3. R %133x° — 2x—3=(7x+A)(Bx+C) » HJA+B+C= (3—33A)

4. fRREEC + mx 424 =0 ERIFE B AN LN IERE - HRIREE - AR A (ABEE)
5. TR X x> =0 x= (4 138A)
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6. T HIMEX +3x—4=0fy—#R » HI6m*+18m—25= (4—1)
7. B R —4(2x+1)?+20=0 x= (4—23A)
8. FRAEX > EEMIX+ 18X — 177 B8 > Hix= _ (4-2)

. ERHERRE ( BE4T , 325 ) (BE2MIABE, h25)

1 B EA(x—4)*—4 (x—4) —3= (3—381E)
2. i HEA(X—=3)(X—=1)+x (x—1) = (x—1) >x=__ (4—1)
3. TR~ Tx+ % =0 B Tt %ﬁa%éﬂﬁzﬁ . EmBIERSY - fx— (42K
4 s+ L =1 x= (4—2)
Xx+1 X
1+3

5. R —IL KRR » fox=

5 Al (4—23818)

6. ZRMEE © T AIRA > BER— T ORI R - ARZ G2 n P E R (x—A) (x—B) =0k

X*— (A+B) x+AB=0ffERI - | [HILEA » BEX—3x+ 1=0fJFiiR E\U%jt%:  (4—2)

7. kX4 x+1=0/JfiR » x= (4—2)
8. HREEBRI2ZABEEMMETHERE - FEFEEFIEVNGESE & SRR RIS L o i R
-

RI6NE > P EARR Ry (4-3)
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AR THY AR - P ARIE3(E - BEIE14{E - CHUIFOfE - 26 (AIfffhE) - kst d
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(2) FHERSEEELMPIRE KT S -
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(3) FHEHEZAEIVEE 48’ » Hix= 2 (157)
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